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Q1

Q2

Q3

Q4

SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS

If Visible :: Eyes, then Audible :: 2.
Identify what can come in place of *7".
(A) Brain

(B) Nose

(C) Heart

(D) Ears

If Book :: Author, then Song :: 7.
Identify what can come in place of *7".
(A) Script Writer

(B) Lyricist

(C) Director

(D) Producer

Ina certain coded language, if COPPER is
written as C15P16E18 and SULFUR is
written as S21L6L/ 18, then how will the
word SODIUM be written?

(A) S15D9U2I

(B) S19D4U21

(C) SISDOUI3

(D) SISD2IMI13

Pointing at a child performing on the stage, a
man in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?

(A) Unclke

(B) Nephew

(C) Grandflather

(D) Brother
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(A) S15DOU2I

(B) S19D4U21

(C) S15D9U13

(D) SI5D2IM13
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Qs

Given are four statements followed by four Q5
conclusions. Assuming the statements to be

true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statements: %
Some cats bark. :
Those who bark do not sleep.

Allelephants sleep.
Mo cat is an elephant,

- -

Conclusions:

) Some catsdo not sleep.

Il) Some elephants bark.

III) Cats who bark are clephants.

IV) Elephants who do not bark are cats.

(A) Only conclusion | follows.

(B) Onlyconclusions [ and Il follow.
(C) Onlyconclusions L1l and I'V follow.
(D) Only conclusion 11l follows.

Study the following series and identify what Q6

can come in place of *7".

STEM, MFRY, VSDP, PEQY, YRCS,
SDPB,?

(A) BPBU

(B) BNFO

(C) BQBY

(D) BOAW
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STEM, MFRY, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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Q7  Study the following series and identify what Q7

can come in place of 7.

JAM24, LEK28, NI132, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

| Q8  Study the following series and identify what Q8
| can come in place of *7".

83, 77, 68, 56, 41, 23,7
‘ (A) 2

B) 7
! (€) 10
o) 11

B5S71AIG

| Q9 Read the following question and decide Q9

which of the additional information given in
the options is required to answer it correctly.

The age of a father and his son is in the ratio

of 13 : 3. If the age of the mother is 33 years,

what is the ratio of the age of the father to
that of the mother?

(A) The difference between the ages of the
father and the son is less than the age
of the mother.

(B) The age of the father at the time of
marriage was 27 years.

(C) Theaverage age of the father and son
is more than the average age of the
mother and son.

(D) The average age of the fatherand
mother on the son’s first birthday was

‘ 28 years.

frfefan sfam &1 98 ik sa & &
e (*7) @ ™M W @ 6 08
e

JAM24, LEK28, N1i32, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32
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Q10 Read the following question and decide

Q11

which of the additional information given in

the options is required to answer it correctly.

A is taller than B, who is shorter than C, Who

18 the tallest person among them?

(A) Cisnotthe shortest person,

(B) Bisnot the tallest person.

(C) Theaverage height of C and B is the
same as the height of A.

(D) Theaverage height of A and B is less
than the height of C.

Read the following question and decide which
of the additional information given in the

options is required to answer it correctly,

A is the son of B, who is the husband of C.
D is the mother of E and wife of F. How is B
related to F?

(A) The mother of D is the mother-in-law
of C.

(B) A and E are cousins.

(C) Bisthe uncle of E.

(D) A isthenephew of D.
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Q13

Q14

Read the following question and decide
which of the additional information given in

the options is required to answer it correctly.

Five students, A, B, C, D and E, are standing
in a queue such that A, C and E are NOT at
the extremes. Who is standing at the first

position in the queue?

(A) E isahead of C but behind A.
(B) A isahead of C but behind D.
(C) Eisexactly inthe centre.

(D) There are 3 students ahead of C.

Choose the odd one out.
(A) DVW

(B) GST

(C) IPQ

(D) MNK

Sclect the term that can come in place of

*?"in the following series.

IBY, 6FV, 11JS, 16NP, ?

(A) 21QL
(B) 21QM
(C) 21RM
(D) 210N
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IBY, 6FV, 11JS, 16NP, ?
(A) 21QL
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(C) 21RM
(D) 210N
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Ifin a code language, TABLE is written as
SYYHZ, how will CHAIR be written in the
same language?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

If+ implies—

— implies =

x implies +

+ implies +,

then select the option that gives the proper
sequence of signs that when filled in the gaps

of the given equation will comectly complete

the same.
61235 15=11
(A) +, =+ x
{B} * _'r :.:'l ik
{CJ x5 % +
(D} 9 +'I :_! E

Q15

Qlé

s @ W ¥ af2 TABLE @1 SYYHZ
foran wren &, o 9% @ W A CHAIR
1 71 forar smga?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

afe + a1 amf - 8

—a 3t x @

x®or aef + 8

+ 3 ol + &

™ 99 RAFey &1 gg9 &Y o foest
@1 S argmn guiar Tar & @ Ry v
WA & T W Y W oY w g
| 7 a
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Q17 Select the figure that is related to figure C in

QI8

Q19

the same way as figure B is related to figure

A,
- [H |f f B Fa 1!
J| L -
1A} B

iy

(A)

| ©

(B)

1Ol 10O |2

80| |£eol |00

(C)

(D)

' O

Identify the odd one from the given list.

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Owverlook

(C) Overpass

(D) Disregard

Identify the odd one from the given list.

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh
(D) Pushkar
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(A) UEEEA
(B) ¥red
(C) sirE-fogrn
(D) Jagc
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(A) rEgY
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(C) fasteme

(D) g
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Q20 The following diagram is the outcome of a

survey carried out for the number of

languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

English Hindi

Marathi

(A) Thetotal number of employees who
responded to the survey was 54.

(B) 30employees can speak Hindi.

(C) 30employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. [f*1"is
exactly opposite *5°, then which number will
be exactly opposite ‘2'?

(7 L3

(A) 3
B) 4
(€) 5
(D) 6
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Q22

Q23

John started from point A and walked 12
km towards the east, tumed left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B. What is the
shortest distance between points A and B?
(A) 6km

(B) 8km

(C) 10km

(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statement

Statement:

During election period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures too,

Conclusion:

1) Women and children should not be
allowed 10 attend election rallies.

i) Election Commission should issuesa
strict code of conduct for all politicians.

(A) Only conclusion [ follows.

(B) Only conclusion I follows.

(C) Either conclusion | or Il follows.
() Neither conclusion I nor I follows.
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Q25

Select the option that is a valid assumption
for the following statement.

Statement:

Despite a clear warning from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend,

(A) The friend does not like Ramesh much.

{B) The doctor does not like ice cream.

(C) lcecream is not good for Ramesh's
health.

(D) Diabetes patients do not like doctors.

A statement and two courses ol action are
given. Select the option that is a valid course
of action for the given statement.

Statement:
Due to the planned transport strike, there will

be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

. Government should try to negotiate with
the transport association to cancel the
strike.

Il. Shoppers must buy and store some
extra vegetables beforchand.

(A) Onlyaction |
(B) Onlyaction I
(C) BothactionsIand Il

(D) Neitheraction | nor Il
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Q27

Q28

Q29

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

As of 2014, which country is the leading
producer of tin in the world?

(A) China

(B) Bzl

(C) Malaysia

(D) Vietnam

In which district of Tamil Nadu is one of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madumi

(B) Tiruchirappall

(C) Erode

(D) Coimbatore

As of 2012, which country is the largest
producer of bauxite in the world?

(A) Brazil

(B) India

(C) Australa

(D) Indonesia

Which of the following rivers is also known
as Untara Pinakini?

(A) Cauvery

(B) Brahmani

(C) Vaigai

(D) Pennar
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Q31

Q32

Q33
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I'he culture or cultivation of grapes is called:
{A) Viiculture
{B) Pisciculture
(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Alluvial

(C) Red

(D) Laterite

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India

As of March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6

(B) 7

(C) 9

(D) 11
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Q34

Q35

Q36

India has signed an MoUl in April 2019 with
the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (IAIARD) in which country?
(A) Zambia
(B) Malawi
(C) Tanzania

(D) Kenya

In 201 8-19, for the second successive year,
which state has been ranked first in e-leaming
training programme of the Department of
Personal and Training (DoPT) of the
Governmentof India?

(A) Tamil Nadu

(B) Kamataka

{C) Telangana

(D) Kerala

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25" March

(B) 2*April

(C) 10" April

(D) 24* January
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(D) &=m

2018-19 # SR TEY 99 @ fog,
Y ] W TR @ Sifis vd wile
faprT (DoPT) & d—afim ufdmmr srfa
W ugelr wir & w87

(A) afierg

(B) Fle®

(C) A=

(D) @7

g waw Raw Feafafaa 4 9 @
o @ A o 87

(A) 25 5rd

(B) 2ad&

(C) 10 0=

(D) 24 SFad
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Q38

66152449

Q39

LM-D

Q37 AsofMarch 2019, which is the third-largest

bank in India?

(A) Indian Bank
(B) Bank of Baroda
(C) ICICI Bank

(D) Canara Bank

Reliance Mutual Fund has partnered with
which of the following companies to launch
voice-based financial transactions?

(A) IBM

(B) Accenture

(C) Google

(D) Infosys

As of March 2019, what is common to these
four countries — South Sudan, Libya, Yemen

and Greece?

(A) Allare African countries
(B) Allare monarchies
(C) Allare Mediterranean countries

(D) Allofthem have had an average

10-year negative economic growth

Q37 rd 2019 %, IUEE AFHT B IR

Q38

Q39

HINE & AR 699 @91 & 1 W &7
(A) gfsmm @

(B) 9% afiw ada

(C) smd¥iandeiang 3=

(D) &= &

Remds =g we A Frafafaa 4 |
e Hof & s arara-amanfta fAda
oA % wvd @ fog wgerd # 22
(A) IBM

(B) Accenture

(C) Google

(D) Infosys

AT 2019 %, IITE TSI B FTER

¥ TR 9t - 2o =, difem o=

I e - A F=fafaa 4 & 2= @

i " &7

(A) ¥l anpren 2o §

(B) ol v #

(C) i sprmarrdg 3w €

(D) &1 ¥l A e 10 |JE
wrs anffe gfy v @
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In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for:
(A) T 700 crore

(B) T 500 crore

(C) T 600 crore

(D) T 400 crore

Q41 International Centre for Automotive
Technology (ICAT) s scheduled to organise
NuGen Mobility Summit 2019 in November
at which of the following locations?

(A) Mumbai
(B) Manesar
(C) Bengaluru
(D) Chennai

Q42  Which of the following companies owns the

video app TikTok?

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

Q40

Q41

Q42

s 2019 % Roww fm 3 feh
il F dedie T Tl wEaw wil
Haptik @1 sferrew famar?

(A) T 700 BV

(B) T 500 &%

(C) T 600 TS
(D) T 400 s

goevTEa e ot siferifee 2wdtoh
(ICAT) =g % =i (NuGen) WfRfE&H
v s 2019 Pr=fefee 4 @ fra
o e o w ared 87

(A) Had

(B) #FER

(C) ¥Tge

(D) 1§

Prafafaa 4 3 2= @ i Hfdar tu
TikTok &7 i v 8?2

(A) OpenXcel

(B) Consagous Technologics

(C) ByteDance

(D) RipenApps

[=]:% (=]
o
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Q43 In April 2019, the UAE honoured who

044

among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

(A) Imran Khan

(B) Theresa May

(C) Emmanuel Macron

(D) Narendra Modi

Wha among the following has become the
first transgender election ambassador in
India?

{A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

As of April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgium

(C) Germany

(D) Austria

LM-D
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Q43

44

Q45

frefafiaa 4 @ &9 UAE gmr afla
2019 %, fgwely yvrifae waal & @
ggrar 29 & fov ufaftes siae wwas @
e e f T

(A) S @

(B) e A

(C) SHIYS Hsbl

(D) "Wz e

frriferfe 3 @ @ wa @) vsell gioier
gATE WaTgd 41 67

(A) TR wrEw

(B) wash wififen

(C) e #ed

(D) g AR

e 2019 T, IITE THGN & AR
fefofaa # @ @9 @ w0 Tdwa
T g wedta T i ge i w
&?

(A) e

(B) afesrm

(C) T

(D) aiifegan
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Q46

Q48

Asof April 2019, who is the President of the
Confederation of Indian Industry (CI1)?
(A) KumarMangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) RajivBajaj

Asof April 2019, whao is the Chancellor of
Tamil Nadu Agricultural University (TNAU)?
(A) Trilochan Mohapatra

(B) Ajay Kumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

As of July 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) Anant Geete

(D) Radha Mohan Singh

LM-D
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Q46

Q47

Q48

CF0LEES

il 2019 T, ITFE THSN B ATAN
At ge aftws (Cl) & seas 319
.14

(A) TR e fawen

(®) s fEgom

(C) famm fraay

(D) weita aara

Sifiet 2019 9% IS ARSI B IR,
affeng ot RwfdaEa (TNAU) &
gy # &

(A) Feres T

(B) 3 wmR R

(C) wfer e

(D) wardieTe g

et 2019 6%, ITE FEDH F FTAR
Fda P oiv s e & o
g?

(A) = fHE o

(B) &t @k

(C) aria

(D) ¥ e Riw
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Q49 Whichofthefollowingcountriesisthe largest Q49 Prifirfa 3 R @ wr 2w R 3 g

Q50

Q51

producer of wheat in the world?
(A) France

(B) China

(C) Australia

(D) Canada

The Keetham Lake and Sur Sarovar Bird E Q50

Sanctuary are located near which of these
cities?

(A) Jhansi

(B) Kanpur

(C) Lucknow

D) Agn

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(C) Jaipur

(D) Hyderabad

Q51

T WeH T IUES 30 &7
(A) e

(B) ¥

(C) agferan

(D) F=re1

fem s afv | woav el seawva
Frefefea e me @ g fug #2
(A) SR
(B) &g
(C) dE7T%

(D) Y

NG B P W e ufig weeT
LCURoR: o8 o

(A) SR
(B) Taferaw

(C) s
(D) E=mETg
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Q52

Q53

Q54

Which state police has its motto as
‘Suraksha-Apki-Sankalp-Hamara’? It
means ‘ Your Security Our Resolution’.
(A) Odisha Police

(B) Rajasthan Police

(C) Uttar Pradesh Police

(D) Haryana Police

In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway

(D) Generation -

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) AB De Villiers

(B) GaryKirsten

(C) Adrian Dale

(D) HashimAmla

LM-D
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Q52

Q53

Q54

fr=fofaa # @ frw v @ gfew &
rdy T ¥ G- AH-HH—
BARI? SEET f § IO G SR
Haed B

(A) shfeem gferw

(B) o gfer

(C) SR waw yfera

(D) sRamm gferw

3G 4G 3l 5G & siEre Ml sjaen
# G & @ At B 87

(A) 9

(B) firmfae

(€) A

(D) SFREA

et st @ 9w d Raerd &1 @
am & o e F 2019 A & fag
e Yoo $TeR (RCB) fide <m &1
e e 87

(A) T & e

®) M s

(C) 3 3a

(D) B S
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Q55

Q56

Q57

LM-D

Indian Railway Minister Piyush Goval has
announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
ofthis railway zone?

(A) Southern Coast Railway Zone

(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) Seemandhra Railway Zone

Ikhlas Khan’s Roza (mausoleum) is situated
in which district of Uttar Pradesh?

(A) Meerut

(B) Saharanpur

(C) Jhansi

(D) Budaun

What is the full form of RFP, which is used
in the context of an RFP document in the IT
sector?

(A) Request for Proposal

(B) Request for Petition

(C) Request for Process

(D) Register Formal Process
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Q355

Q56

Q57

IR Yot 5 i e F e v R
AW W B Y g Yo o o
T B B | 3 Yo G @ A g &7
(A) =l a2 Yo o

(B) gl Yol o

(C) BRWe e Yoa T

(D) i ¥oa e

SUATH @ &1 I (AHeY) 9T TEY
@ Frferfam e forer § Rem &7
(A) #¥©

(B) WEWAR
(C) siredt

(D) T2,

RFP &1 Q31 1 71 8, foreret Swa IT
AFeY # RFP a6y @ el F fas
it 87

(A) Raave wiv worae

(B) Rare wiv ofesm

(C) Radwe wiv v

(D) e wida wew
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Q58 Watson computer is a product of which of
the following companies?
(A) Microsoft
(B) 1BM
(C)y Google
(D) Dell
(59 Kevin Systrom and Mike Krieger are the
founders of which of the following?
(A) WhatsApp
(B} Twilter
(C) Instagram
(D) LinkedIn

Who among the following established the
Banaras Hindu University?
(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi E

(C) Govind Ballabh Pant
(D) Madan Mohan Malviya
(61 Where is the Bara Imambara monument
situated?
(A) Lucknow
(B) Varanasi
(C) Kanpur
(D) Prayagraj (Allahabad)
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Q58 diews wger Pefafea 4 | s w0
w1 Uieae &7

(A) Microsoft
(B) IBM
(C) Google
(D) Dell

Q59 @it Ret afe wiges fw Prafafan

4 A fres dwus &7

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedln

gavn g Rwfaman & wmen
fymfafaa 4 | R 17

(A) g 2R

(B) wore wiww el

(C) M= oo ua

(D) W&A Wi§A A

Q60

qgl gAMATEl BING el few &7
(A) dE@TH

(B) @RIV

(C) TR

(D) WATRIS (gEe)

Q61
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Q62 Who among the following was popularly
referred 1o as the Sher-<-Ballia?

(A) BhagatSingh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

Q63

Q65

Who was the Samajwadi Party (SP)
Rajnath Singh in Lok Sabha Elections 20197
(A) Suresh Bansal

(B) PurviVerma

(C) Usha Verma

(D) Poonam Sinha

The Parichha Dam in the state of Uttar
Pradesh is built across which river?

(A) Sharda

(B) Chambal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United
Provinces. In which year was it named as
Uttar Pradesh?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

LM-D

Q62

Q64

Q65

frafafea o & 5 dv-v-afdar 3@
A A S W o7

(A) wra f¥ig

(B) =¥ g

(C) fory wid

(D) e Ui

BT G 2019 3 F@TF A GAT
fie @ Reers woed) ol (war) &
SHiEaR Frafafea 4 4 o9 ar

(A) oo dw

(B) i =

(C) w1 i

(D) T fer

IR wew v A wher g i ad w
arar @ &7

(A) TR=1

(B) ==

(C) &

(D) =mERT

ST W BN gEA HYA Wia & w9
ST T o | g9 e ad aae wde @
T fRar T 9

(A) 1947

(B) 1951

(©) 1950

(D) 1948
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Q66 Whowas the first Governor of Uttar Pradesh

Q67

Q68

Q69

afer it got renamed as Uttar Pradesh from
United Provinces?

(A) Varahagiri Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

Inwhich year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit Singh?
(A) 1800
(B) 1805
(C) 1806
(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) SwamiDayanand Saraswati

(C) Keshab Chandra Sen

(D) Swami Vivekananda

LM-D

Q66

Q67

Q68

Q69

YT Ui | IR USW @ Y F AW
T B A1S IR WA BT TS U
B 9r?

(A) TEMR dHe AR

(B) BRwwul fiwwme wid)

(C) Taea=mer T4

(D) ¥ areh @H

3t & faars v AFe! gr ugen
3 M W [, A fags fvw of
BT w7
(A) 1812
(B) 1800
(C) 1806

@) 1813

fra of % f= fea s 3 vl
Rie & wrer sppawr & el Wl @
BwRN fae?

(A) 1800

(B) 1805

(C) 1806

(D) 1809

1828 ¥ #e1 WA & g Pl
% W e g A E o

(A) T XM HEE WY

(B) waril Targ avvad!

(C) @¥m ug ¥

(D) wr fAwrEg
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Q70

Q71

Q72

Q73

In which year did the first passenger train in
India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825

(C) 1853

(D) 1840

In which of the following locations was the
first post office in India established by the
British East India Company in 17647

(A) Hikkim

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years? E
(A) 1909 ’
(B) 1920
(C) 1895
(D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation'?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) LalaLajpat Rai

LM-D
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Q70 e (4, ¥4 vaufy FEnh Twre

Q71

Q72

Q73

efiaw) 9 um a@ va ¥ ued a2
fore ad el o7
(A) 1835

(B) 1825
(C) 1853
(D) 1840

1764 ¥ fafew $we 2y wu gr wnfia
uRd #1 deel S e Frafafaa 4 9
e wIm TR e

(A) fefamn

B) g7
(C) weTH (3@ 9-%)
(D) df% (3 Hag)

Wi wiel g7 Aw R T Hid- e
gur, Frafafea & @ few ad A
arfeyferafie fran ar?

(A) 1909

(B) 1920

(C) 1895

(D) 1897

HEre it B wefr seey et

v A v afaa B o

(A) TGN T2
(B) wramER & T8
(C) v w% 4

(D) ST AU
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Q74 Inwhich state isthe Eravikulam National Q74 g¥fagem wsfhra wurm fva wou 4 fler

Park situated? #?

(A) Kamataka (A) wtes
(B) Assam B) s
(C) Kerala (C) @
(D) Andhra Pradesh (D) i wdw

Q75 Whichofthe following is NOT abiotic? Q75 Frafafem i ¥ & o sdfs 8 &

(A) Water (A) wFh
®) Soil ' ®) 721
(C) Ar (C) w0
(D) Fungi (D) Fa®
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Q76

Q77

Q78

Q79

LM-D

SECTION-3 | GENERAL SCIENCE /ARITHMETIC | 50 QUESTIONS

What is the false feet with which amoeba
ingests its food called?

(A) Axopodia

(B) Pseudopodia

(C) Filopodia

(D) Reticulopodia

In our body, where does 90% of our total
nutrient and mineral absorption take place?
(A) Kidney

(B) Large intestine

(C) Stomach

(D) Smallintestine

Which among the following is referred to as
nearsightedness?

(A) Hypermetropia

(B) Hyperopia

(C) Myopia

(D) Astigmatism

Who discovered the X-rays?
(A) GalileoGalilei

(B) 11 Thomson

(C) EdwinHubble

(D) WK Roentgen
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Q76

Q77

Q78

Q79

Frafaftaa # @ $19 a1 U Hu1g (false
feet) & fore arfrar a9 s &1 e
a7

(A) waEiREar

(B) wSifean

(C) fraimfean

(D) fegerdtean

R Y #, TN G WS aw AN
@il aaeier &1 90% f&war S8l s
22

(A) T

(B) 991 i

(C) ™

(D) B aia

frefafea 3 @ 5 e gficdw @
Y # ST W 87

(A) eI

(B) ErgURIfET

(C) wrfiran

(D) TReTAfRw™

e & @ e # o
(A) HMaforat Afereh

(B) w9l divea

(C) = gaa

(D) S&y, &, ¥
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Q8l

Q82

What is the S unit of time?
(A) Hour

(B) Second

(C) Minute

(D) Millisecond

Proteins are one of the
that provide calories.
(A) four

(B) three

(C) two

(D) five

is also known as cobalamin.
(A) VitaminB12
(B) Vitamin B5
(C) Vitamin B7
(D) Vitamin B9

The greatest number that divides 59 and 54
with remainders 3 and 5 respectively is:
(A) 7

(B) 3

€ 3

D) 8

LM-D

Q80

nutrients g Q8

Q82

Q83

W @ S| o T &7
(A) wer

(B) d@s

(©) e

(D) fdiwe

W, s aE A AU R
Gt HEN WS o 8

(A) T®

(B) @M=

(C) &

(D) di=a

FrefaRea 4 A 59 Saenfim & am @
N I o 87
(A) fefmBI2
(B) faer@=Bs
(C) faefs B7
(D) A== B9

% WA 78 Wem o O 8 o 59
R 54 7 Renfom & W w9 3aiR
$ 9 qua &7

(A) 7

®) 3

©) 5

(D) 8
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Q84

Q85

Q86

Q87

LM-D

if the volume of a hemisphereis 18 7 emv’,
then the total surface area of the hemisphere
[

(A) 27 7 em?

(B) 18x cm’

(C) 24x cm’

(D) 217 cm?

Let *a’ and ‘b’ be two numbers. The HCF
of *a’ and *b’ i5 4 and the LCM of *a" and
‘b’ 15400, Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is:

(A) 3

(B)
(C)
(1)

Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively. TapC
can empty the full tank in 45 minutes. 1fall
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18 minutes

(B) 36minutes

(C) 24 minutes

(D) 30 minutes

A and B can complete a task in 60 days and
90 days respectively. With the help of C,
they completed the task in 20 days. Iftheir
total earning is ¥ 36,000, then considering
that their eamings are in proportion to their
work, the share of C will be:

(A) T 16,000

(B) ¥ 13,600

(C) T 15,400

(D) T 14,800

Q84 TfY us g M &7 HATH 187 em’ B,

Q85

Q86

Q87

Al O o MA BT HA AAH AFBA
e B

(A) 277 cm?

(B) 187 cm?

(C) 241 em?

(D) 21x cm?

"1 of ‘a’ 3lw b 21w # ) cat i b
W HETH wEYEHd 4 & Sl qgem
HAYTa® 400 £ | @1 ‘a’ AR ‘b’ @ WIS
) HE@ HAHE 41 Bl 872

(A) 3
(B) 4
(C) 2
(D) 1

T AR B Ud @rell e@ &1 F99: 30
fime afw 60 fime & W wad &) 79 C
ol Wl gE 3 BT 45 e § wrell 3w
el & | afy §F1 7o o arl wie
& 1 @il €@ @ W # o ey
e

(A) 18 e

(B) 36 fiFe

(C) 24 e

(D) 30 fase

A 3 B & &1 &1 @wwer 60 BT ol
90 f&=T # q@1 &% W& & | C ) wergal
W, 9EF 39 F1d 37 20 &A1 F @@ aw
ferar| afe 97 Ha s T 36,000 &,
il 78 4@ gY & 9 FAE 9 B
& arqura # 8, C @ v feaan gm?
(A) T 16,000
(B) ¥ 13,600
(C) T 15,400
(D) T 14,800
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Q83

Q89

Q90

Shilpa travelled at a speed of 20 km/h for 3
hours and an equal distance further at a speed
of 15 km/h. The average speed of Shilpa (in
km/h) is:

|

(A) ”E

|
(13) IT?

|
(C) IﬁE

|
(1) Iﬁ;

In APOR,Z20=90° 4, B and C are the
midpointsof PO, OR and PR respectively.
Then, which of the following statements is
TRUE?

(A) F A4, Band C are concyclic points
(B) R, B, A and C are concyclic points
(C) Q. A, Cand B are concyclic points
(D) Allofthe given options

If & ®is the measure of an angle which is
equal to its complement and 8° is the
measure of an angle which is equal to its

o
supplement, then F is;

(A) 3
(B) 1
(C) 2
(D) 0.5

LM-D

Q88

Q89

Q90

£9505.799

frear = 3 wet & fore 20 km/h 1 1l @
iR S & afe g8 31 1S km/h 2 Tl
A T ) B 9 s TR (kmvh
#) s w |

1
(A) ”E

1
(B) I?;

|
(C) Iﬁi

|
(D) 163

APOR W.£0=90° & | A, B3R C &
PO.OR 3R PR & wmz fdg & o
Frferfiga # & @5 o su= |d 87

(A) P A, B3R C gy fig &

(B) R B, A 3R Cyepgdy fig &
(C) O 4, C3IR ByHyH fig &
(D) fox g i fawey

IR @° (@ HU H AN E G gED
WIS & aWET 2 AR 4O UF S @
Y B O THG S D avEy §,

&
7 EIGE]

(A) 3
B) 1
(C) 2
(D) 0.5
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Q91

Ramesh sold a box at 10% profit to Suresh.
Suresh sold it to Ganesh at 20% profit. If
Suresh’s profit is T 44, then the cost price of
the box for Ramesh is:

(A) T 200

(B) T 150

(€) T 100

D) T 250

Mahesh had x number of trees in the year

2011. Every year, due to new plantation, the
number increased by 10%. In which year

* will the number of trees become at least 50%

Q93

LM-D

more than that in 2011, for the first time?
(A) 2017
(B) 2016
(©) 2015
(D) 2014

A money amounts to ¥ 4,200 in 3 years and
10 ¥ 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

[
®) 125%

(€) 30%
(D) 25%

For the first 567 natural numbers, the
arithmetic mean will be:

(A) 2835

(B) 284

(C) 2845

(D) 283

32

Q91 T A U @l 10% @™ W P

4911 WU A FH 20% ™ 9 T A
&9 fean) aft a3 T44 &1 am afia
B o v & g g9 aa & B9 =
foeem 87
(A) T 200
®) T 150
©) T 100
D) T 250

af 2011 F MRY & U x U8 &) WS
of, Y QERYY P HWU, W wem |
10% & gfa & ohl &) & e aw
fra o 3 2011 & g ¥ At & wem
W | T 50% e ® Ty

(A) 2017

(B) 2016

(C) 2015

(D) 2014

U EFRIRT |EWYT @re §Y ue 3 ad i
T 4,200 3 6 ad # T 6,000 B wrch &)
e ) &e feee 27

(A) 20%

|
® 125%

(©) 30%
D) 25%

Bl 567 WP Herwl & W
ez o s

(A) 2835

(B) 284

(C) 2845

(D) 283

SERIES-D-D




Qo5

| Q96

Qo8

Q99

A cone has its base radius as 7 cm and slant
height as 25 cm. The volume of the cone
will be:

(A) 1232 cem’

(B) 3696cm’

(C) 1864cm’

(D) 2464 cm’

Out the following numbers, which one is
NOT a perfect square?

(A) 3136

(B) 12544

(C) 1296

(D) 23832

The decimal expression for 8 rupees 8 paise
[

(A) 83.0

(B) 8.008

(C) 8.08

(D) 8.8

In the product of the first 35 even natural
numbers, the digit at the ten’s place is:

(A) 2

(B) 6

(C) 5

D) 0

Out of the following, which is the greatest?

(A) (49}§
®) 7

©) (2401

1 Y&
(D) [E)

LM-D

Q95

Q96

Q97

Qo8

Q99

W ¥m B MR A B 7 em I
fivel =g (¥ie 81me) 25 cm &) UE
& e fean 8rm?

(A) 1232cm’

(B) 3696cm’

{C) 1864 cm’

(D) 2464 cm’

frfafen wemil § § $9 @ der
s ot o A &°

(A) 3136

(B) 12544

(C) 1296

(D) 23832

goqd 8 49 & g @ v Tvviea
yfrafam = enf?

(A) 88.0

(B) 8.008

(C) 8.08

(D) 8.8

UBCl 35 WH Wiplas dEpll & OHha
#, TBR @ WA W B W1 ole g
(A) 2

(B) 6
(©) s
(D) 0

Frfafaa & @ 919 @ o waa 72
2?

A @9y
B) 7

© (24u|}_7!

=i

o )
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Q100 1f2* x 5" endsin 5, then the value of x is:
(A) 1
(B) 0
(©) 2
(D) Novalueofx

Q101 The LCM of two co-primes (aand b ) is:
(A) a -5
By a+ b
(C) alb
(D) ab

(2102 The difference between a number and the
two-fourth of that number is 60. What is the
number?

(A) 120
(B) 125
(C) 130
(D) 160

Q103 IfA:B=3:TandB:C=7:9,thenA:C
isequal to:
(A) 3:7
B) 2:3
(C) 3:1
(D) 1:3

(0104 X takes 8§ hours to complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working
together but independently, to complete the
same task?

(A) 4days

4
(B) 4‘5 days

5
(C) 4; days

(D) 5days
LM-D

TIEZ445

Q100 Uf} 25 5 & afc # ST B, I x @

A febaar nn?

(A} 1

(B) 0

{C) 2

(D) x @1 g | STEl &7

Q101 81 \E-MT HEl (o 3N b) &
ST WIS @ 87
(A) a-0b
(B) at+h
(C) alb
(D) ab

Q102 felt e v 9usd S—ag & 4=
w1 I 60 B | weEar a4 87
(A) 120
(B) 125
(C) 130
(D) 160

QI03 afg A:B=3:73RB:C=7:98, @
A:C @ YN &
(A) 3:7
B) 2:3
{C) 3:1
D) 1:3

Q104 fait &m &t g & @ fog X #1 s 6
T B | S T B R F @ g Y
B 1262 @rd & | I B B @R A
@ forg X aiv Y &1 9y e &, afdA
wcrE w0 8, e wwg @i
(A) 4f&5

(B) 4% f&m
2 Re
© 45

D) 5=
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Q105 Find the area of a square whose diagonal is

10m long.
(A) 10m?
B) 50m?
(C) 100m?
(D) 110m?

Q106 Solvethe following.

(1 —sin*g)secig=
(A) O

(B) 1

(C) sing

(D) cosg

Q107 Find the range of the following data.

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
(D) 54

Q108 What was the name of the first spacecraft

launched by India in 19757
(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

Q109 What is the total route length of the proposed

Eastern Dedicated Freight Corridor?
(A) 1556 km
(B) 1656 km
(C) 1756 km
(D) 1856 km

LM-D
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Q105 v& a7f fored fwdt & o 10m 2,

JHDT 8FFe ST Y|
(A) 10m?
(B) 50m?
(C) 100m?
(D) 110m?

Q106 F=ferfaa & ga %)

(1 —sin’g)secig =
(A) 0

(B) 1

(C) sing

(D) cosg

Q107 M=o srer & ¥ 31 &)

1124490

67

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(©) 53
(D) 54

Q108 1975 % WG gNI wivg fFU 710 vsat

saRer am &1 =W T4 o9
(A) AR
(B) 3miwg
(C) Ture
(D) feoh

Q109 Wi qat it e HieR A dard

fa &7

(A) 1556km
(B) 1656km
(C) 1756km
(D) 1856km
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Q110 Which ofthe following missiles developed
by DRDO is an air-to-air missile?

(A) Prahar

(B) Shaurya

(C) Astra

(D) Prithvilll

Q111

Deficiency of which vitamin causes rickets?
(A) VitaminD
(B) VitaminB
(C) VitaminE
(D) VitaminA

Q112 Which of the following diseases occurs due

Q113

to the deficiency of proteins?
(A) Goitre

(B) Kwashiorkor

(C) Anasmia

(D) Bronchitis

Which of the following diseases can be cured
by increasing intake of citrus fruits?

(A) Pellagra

(B) Blindness

(C) Scurvy

(D) Osteoporosis

Q114 Which of the following statements is TRUE

about the process of evaporation?

(A) Liquid state is changed to solid state.

(B) Gaseous state is changed to liquid state.

(C) Solid state is changed to liquid state.

(D) Liquid state is changed to gaseous
state.

LM-D

Q110 DRDO g1 fasfia fmfafaa 44 39

QIll

& frarge g9 9 gar 9 AR & arel
S fHaEd 27

(A) WER

(B) =

(C) s

(D) geait 111

Fr=iforftaa # & form e & &0 9
fRevew &t Sard & &7

(A) ffei®= D

(B) faef= B

(C) faef=E

(D) A= A

? Q112 WéH & Fi & s Frafafiaa § @

36

®F o fEr 'R 87
(A) TEeR

(B) FTRRIRGR

(C) THifdan

(D) Tl

Q113 @ wal @ a1 o 9o 4 F=fafea

i e R A e o
(A) e

(B) 3=

(C) &l

(D) Fifeamritag

Q114 aredimvor &) ufisar & IR A ol

# A B W P W R

(A) %4 @@y, S A 7 95 ol

(B) %mﬁmﬁmm

(©) :’I:Hmn.aﬁmnﬁmm

D) ;W.Mamwﬁmm
gl
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Q115 Which of the following has resulted in the
deterioration of water quality?
(A) Improperdisposal of sewage
(B) Deforestation
(C) Incorrect distribution of water
resounces

(D) Overpopulation

Q116 The Sl unit of stress is:
(A) joule
(B) pascal
(C) wvolt
(D) watt

Q117 Name the instrument used to measure
absorbed or evolved heat.
(A) Ceilometer
(B) Colorimeter
(C) Calorimeter
(D) Clinometer

Q118 Name the force that binds protons and
neutrons in a nucleus.
(A) Electromagnetic force
(B) Weak nuclear force
(C) Gravitational force

(D) Strong nuclear force

Q119 Protium, deuterium and tritium are:
{(A) isotopes
(B) isobars
(C) isomers

(D) isochors

LM-D

Q115 Frafefaa d 9 frwa vRvmrasy g
@1 g A froae ang 87
(A) e Ul & wE A Figes T w5
(B) @A # wer
(C) Wiet HEEAT &1 Tord faawor
(D) aufes wiereEn

Q116 ufraa (stress) & S| ZHE Ty 27

(A) S
(B) 9TEhd
(C) are

(D) ae

Q117 fFr=fafaa # | W @3 &1 9y
argeifaa @ sl S (heat) & 994
@ forg fan wmen &7
(A) Faemies
(B) ®effiey
(C) dariieR
(D) faandien

Q118 s 7P ¥ WIEH 3R =g &
A 9 1 a1 Fe 87
(A) fagga g=am 9
(B) gda@ wfaa e
(C) oY 9
(D) wad NS T

QI19 wifean, sq2Raw sk Rfean =
Frefofaa 4 | fSas A9 4 v
27
(A) IngHIE™
(B) 3ngHER
(C) SR
(D) IFHDR
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Q120 Which of'the following gases is necessary for
combustion?
(A) Hydrogen
(B) Carbon monoxide

(C) Oxygen
(D) Methane

Q121 Which of these values represents pH of an
alkaline solution?
(A) §
(B) 2
(©) 10
D) 3

0122 Which of these is sonorous?
(A) Wood
(B) Water
(C) Rubber
(D) lron

Q123 Select the water-soluble vitamin among the

following.

(A) VitaminsC

(B) VitaminK

(C) VitaminD

(D) VitaminA
=]
&
n

LM-D

Q120 g8« & forv fr=feferas § & @9
I saas 87
(A) BTEBIOH
(B) = AFRIEES
(C) i
(D) fers

Q121 fr=ifafRea & & &9 W 79 s andi
faeam @ pH &1 wfaffa s &7
(A) 5
B) 2
(C) 10
(D) 3

Q122 frfeifiea # & @ w1 werl ve wifve
(sonorous) UgTef &7
(A) &S
(B) il
(C) v
(D) e

Q123 FrfifE # % @ a1 t& Wt ¥ gerdier
faerfi &7
(A) faerf=iC
B) RefmK
(€) faef=D
(D) fae@=A
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Q124 Rimjhim's physician advises her to avoid Q124 f¥m & ffres 3 v wga aw

consuming a diet high in saturated fats. If (fqeee de) aret wra o s dab 5
Rimjhim does not follow her doctor's & @ waw @ 2 aft Refim s
advice, she can be at a risk of: faftves @ wome &1 ares 8 e 8,
(A) kidney disease o an Freefafag 4 9 o gov
(B) cardiovascular disease w87
(C) anaemia (A) & & dd
(D) pancreatic disorder (B) ®ga @

(C) v&wmeTm

(D) srameg (GFaies) @AeR

Q125 Whichof'the following isamajorsourceof Q125 Fr=ifafasa 3 & o &1 wivwia 1 1w

phosphorus? e 87
(A) Potato (A) NI
(B) Amla (B) aifaen
(C) Orange 9 (C) Heaw
(D) Milk ,ﬁ (D) T
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Q126

Q127

Q128

LM-D

SECTION-4| GENERAL HINDI | 25 QUESTIONS

= A g Iga @ @@ 2 - mw
A Ya@ifda v fa frdmor @& e
87

(A) TvrEras

(B) wHwHTaTA®

(C) widfs

(D) uRAMmERS

W dal e A wara R o aw
T B ¥ wgw gen & o el R
w1 P 87

(A) wErs fan

(B) e fasar

(C) wEaifers M

D) e

Prafafea § @ o W SR @
vafgard 7éf &7

(A) $GT

(B) wrenfaa

(C) I®
(D) wfreman

L g AW ]

40

Q129

Q130

Ql31

Fefafea # @8 @1 @ of Ram—gm
T 27

(A) wETaR-—grEm)

B) wH-—fwm

(C) wweia—Rnd

(D) wmfe—afie

Tl g R gwfae TR W
wEd & 1—Raw v & Prafafa 4 |
P | TR 3er?

(A) oy

(B) T

(C) ool

(D) ooy

W B G O A AT Y- A @
fot v we Pr=ifafaa 4 9 @ g?
(A) T@HER

(B) T@HT

(C) T

(D) =™
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Q132 Pr=faftea 7 4 ot o v i 27 Q136 Ta-&s w8 wAr— 3 fae oftm

(A) geamr ¥ dreifdT g

(B) & ] (A) T @ 9 N G9r @

(C) wha (B) EeBT ® U 718 A B O |
| (D) erelt (C) 7w @1 gu grfl &1 g |

(D) q @ o, ¥ ge-um

Q133 "url | awEn o e e - B

WER H ary 27 Q137 PF=ifafea & & @7 & @ armd+
(A) IEmETES o e 87
(B) HHTaTaS (A) rma & ard
(C) wawaras (B) W& 2N
(D) FoEES (C) iy
| (D) =TT HPRS |
Q134 fr=ifeafam # & @ ar arew anggg &7
(A) WM o ged fae arh an) Q138 R wikw & yfer & dus o
(B) O ywm At v TwH A e ) LI
(C) & <t & daw ad siew &) (A) rrEE YE
) & 3 e Bt e (B) 2 AR T
l (C) eondiwee fgad
| QI35 wwa & fvew @ o oRm HeEEw (D) e i
_' g
| (A) g®aT are] Q139 ‘sl Al frw armiw & Rwfo g
(B) #&d T 87
(C) Twd& & = 8 (A) W
(D) =Far arg ¥ w B) s W
(C) whwsh
(D) aras
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Q140

LM-D

# forar mn?
(A) anmfeere
(B) iidTebTer
(C) ferepret
D) IFAF Fre

fFafefaa SeN @1 semge Hfdw
3R A Ry v vl (v wem 141 -

143) & 9T €|

J+{er 4t # Wl EN A S e—e)
TR, [alourd A1 Gex ©4 H, Pl
421 a1 FHw 9 N, FE v, e
77 fafes o o, ofie o8 9y & S A
Hhax w9 # | Hel B & geY 9w
I R Wl A ol gar & it ows
IR & HR YT Wi @A T,
afew fvaeed g wiiftea amm 2|
il @l e WRE WIS @ HRN—Ha,
APV R & TR, Biferagfor
frgw ol Mo guwd wik & &
T R wea €, 8 R ar dmferg
g1 g UPR S Dud HEIHMERA
iRy & fivee sewum 9 i i
@ 99 g8 Havieier @ drg R
T 3f famroren, ey s Al 3§

&7601B26

42

Ql4l

Q142

B A ged & fou o U §
aaeEs €, wed WIgE 91 Heed A6l
UHia & HERY, FEERY §E USR5
Fiferard, wafa geafe wivga @ yrdA
Hfaat % fed €1 Ao @1 & sl 3
el YT A o SR wipfis awgel
B AT Teord Dad S D
gfte 9 frar | waw voe 4 dier-aga
WRee fEw fFar ¢ a8 wafy @
fardy wafefer & drae &)

SRR T & fory Sf s FaEv
(A) Wl & w9

(B) @i 3R wsfa

(C) we=m Hia

(D) wFla &1 Hied

SRR TEY B MW WY gy fF

U & HHRY, IWHNT 7 TN D

Y[ PI @ qTe T B Rl SE Bl

fort €7

(A) was voe H

(B) Fo® Ta A

(C) Mow @ & =il ¥

(D) arcHife, wiferam™, Wi senf
Hpa & WM Sl §
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Q143 TYNRT TN ST WETOT P |

(A) ¥= R &1 gem wofa & wh
wdl A &= g & @i Sowe
T BT BROT I W FEirT
8, afew Fvamed gra ufafiss
arer &

B) W daw gaoraaes g
WEHaM Wgeend, 3cda [we
faftfrar | s sewaa & e
nfr @ of g devieRe @
t Rfwet v @ Rwem,
weren o fftsa 4 @ o gaw
@ fory o unt & & owdE €
el WIge A1 wEed A |

(C) W*H’IWEWWW
W@el | v $R & gy <F A
vien 8) fsg o wofa @ awd
Wed &1 939 IvEr o9
WHHAAT ST IqUIST D B
1, 9% S 78 | TP F we
Wt &1 o wepa & arde sfaat
i frad €)1 wew Tt § SEw
Wit avfq gan &)

(D) fed @2 & gt 3 qaas @
i o aftee wpfas avgel @
AN Fooid Daed LU &
gie @ few 8| weg vor #
elrg-agn wiere fEor foar 8,
78wl N fdm wufpf
ey 8

GTa4 1820

Ql44

Q145

Q146

TER B G YT 1 W e g |
(A) Rene 13y
B) Rand g

(©) geiv awg
(D) g wwsE

el T B UTE A o squiaf €
% w3 U gaEmae @ o=
forar | @@ a8 va 5w oot § s
(A) Fizer o5

(B) e o5

(C) wmaafs gz

(D) =mR® 95

#Afay Ien 4 IREH F Fwmr
| W w amg?

(A) = == R

(B) i ard i

(C) & T iR

(D) &R T 3R

SERIES-D-D




0147 &S w=t @ afferr @ S & 0150 ‘de® wer A W o wer &7

# R 1w 5 s & @ Psfafea (A) 2

3 @ W g gud sioela 8 angn? B %

(A) 3T &R (C) @

(B) e W o) & 1
(C) wea ¥R

(D) faga W

Q148 Fr=fafea i A ulds wf @ & P |

(A) =

B) @ |
(C) ®
|
\

D) =

G001 826

Q149 ‘weEw ws i #1 w gl 82
(A) W
B) =i
€) &

D) =9
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Read the following Instructions carefully :

Frfafaa PAidat « ae 9 9@ -

I. Out of the four alternatives for each question, only
one circle for the comect answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheel. The answer once marked Is not liable
to be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll Mo, anywhere
else except in the specified space in the Answer Sheet,
Handle the Test Booklet and Answer Shee! with care,
us under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the comrect Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit

Card to the Invigilator

No candidate, without special permission of the Center

Superintendent or Invigilator, should leave his / her

seal.

. The candidates should not leave the Examination Hall
without handing over their Answer Sheet 1o the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and deall with as
an unfair means case.

., Use of Pencil/Electronic/Manual Calculator is
prohibited.

. The candidales are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfuir
means will be dealt with as per Rules and
Regulations of the Commission

10. After Examination is over, candidste has 1o retumn his

Answer Sheet 1o invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed 1o leave the examination hall.
Candidate is only allowed to take Candidatc’s copy of
answer sheel.

11, Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the

Invigilator after the exam.

1. Wew e @ for feu 7 am Awent 4 9
wfl o @ fo o vA N I e W
e Tw M B & T oV T T uige
U9 9 | U AR I M ey o &
qe I9 AT AE o HHn £

. whemelt giftes = ow o3 @ A
7 WIT U4 9W W HIg g e | )
qdtemredt arae e ST uEe § Puifa
o & afifan amam 1 fod

g U4 SR UEE o

warr &Y, #0ife fd of oRfeaRy ¥

g qftcret § @ @1 e @Y gEd uder
yftae td oY uaw SuaE S S
T |

. when gftae A § i g LN
& wheEref wh s @ UHE W
fered |

Y8 W U Yee g, W e B
YT Jaqw vES fEEmn

e W ww araders B fad sy @
e &1 adeandt s W T B

. WRINT P F0EE B AT IR UG 2y
fn odemell s wre A B afR
fsdl odenedt A aufafly vae v EwmER
+# fy of a8 e G A 99 9
UES e dea € AR aw sefa e o
HMFT |1 ST

e /geeeiPe / swrafn WReds o
avarT afSfa &)

ufen €@ A s & g gl s @
i Frawt vd Rt g Pafia 2
el & Wl wEl @1 B i @
frast vd APl & spem gy

10, 99ET & YT apaedl IR UG T FO0E
@ dier 1 awrfee grv anaedl F1 o
uaw @t spaddl wier /e ufdy ewma s
weft our forad S ) o 3 v A
Ry < el | SR wEe @ apaedi ufy
ararefl Y a1 W @ o @ arafa &

. wfien & suwia ederelf o) v gl
o8 FhEs & ater gt ofen
st & ofarf st e 58 )
o wEd 9|

GTRLENSY (e

.
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